Eden Vale Improvement Works Rev 3 Not DDA Compliant General Items. Excavation

Annex 4

Item	al Items. Excavation Description	Quantity	Unit	Rate	£
No	- nescribitori	Quantity	Offic	Nate	
	CLASS A: GENERAL ITEMS				
	Contractual Requirements				
1	Insurance of the Works				
			Item		
2	Insurance of Construction Plant		Item		
3	Insurance against damage to persons and property		Item		
4	Provision of performance Bond		Item		
	Specified Requirements				
5	Allow for setting out the whole of the works including all labour, instruments and materials in accordance with clause 17 of the Conditions of Contract.		Item		
6	Allow for complying with Traffic Safety and Control (Traffic Safety Measures) as clause 117 of the Specification for Highways.		Item		
7	Provide samples of all materials to be used in the works in accordance with clause 36(2) of the ICE Conditions of Contract.		Item		
9	Allow for all works involved in the location, protection and maintenance of existing statutory services for the duration of the contract including trial holes where necessary. Allow for keeping all highways, roads, footpaths and the like clear from mud and dirt at all times including the use of mechanical brushes, wheel washers etc.		Item		
10	Allow for provision of a work programme in accordance with clause 14 of the ICE Conditions of Contract		Item		
11	Allow for the protection of existing trees hedges and vegitation during the course of the works and the reinstatement of any damage caused by the contractor as directed by the Engineer.		Item		
12	Allow for the provision of a method statement in accordance with the Control of Substances Hazardous to Health Regulations (1998 COSHH)		Item		

Page 1/1	To Collection	1,000

Eden Vale Improvement Works General Items

Bill no. 1

	al Items Description	Onostit.]	l ln:4	Doto	£
Item No	Description	Quantity	Unit	Rate	£
140	CLASS A: GENERAL ITEMS				
13	Break out 178m2 tarmac footpath to depth	12.6	m3	25	315.00
10	250mm and dispose of site	12.0	1110	25	313.00
14	Strip Existing soils	22	m3	5	110.00
15	Take down walls Backstreet	40	m	60	2400.00
16	Take down walls Mainstreet	30	m	60	1800.00
17	Step down incremental from 2m to ground	10	m2	60	600.00
• •	level (backstreet)				000101
18	Step down incremental from 2m to ground	10	m2	60	600.00
19	level (mainstreet) Excavate & dispose of embankment to	123	m3	25	3,075.00
19	proposed formline	123	1113	23	3,073.00
20	Excavate & dispose of material to form new		m3	25	300.00
	path				
21	Supply, spread & compact Type 1	52	m2	7	364.00
22	Lay tarmac binder course 50mm	52	m2	10	520.00
23	Lay tarmac wearing course 25mm	52	m2	8	416.00
24	Pins	58	m	15	870.00
25	Bollards	15	no	200	3000.00
26	Spread soil	22	m3	5	110.00
27	Import topsoil	22	m3	18	396.00
28	Cultivate & seed	216	m2	1.5	324.00
29	Removal of trees	1	no	300	300.00
30	Establishment & maintenance	1	Item	1500	1500.00

l				
	Page 1/2	То (Collection	17,000.00

Bill no. 1

Item	al Items Description	Quantity Un	it Rate	£
No				
	Collection			
	Page 1/1			1,000.0
	Page 1/2			17,000.0
	Contingency	5%		900.00
	Fees @ 10%	10%		1890.0

		Page 1/3	To m	ain sun	nmary	20,790.00